
SECTION II TM 55-2210-224-24P

Figure 75. Cooling Fan Assembly.



SECTION II TM 55-2210-224-24P

GROUP 15 COOLING SYSTEM

FIG. 75 FAN ASSEMBLY, COOLING

1 96906 MS51967-03 NUT, 1/4 IN -20 UNC 4
2 96906 MS35338-44 WASHER, LOCK, 1/4 IN 14
3 96906 MS90725-6 SCREW, HEX HEAD, 1/4-20 X 3/4 10
4 96906 MS90725-8 SCREW, HEX HEAD, 1/4-20 X 1 4
5 51225 570265 SCREEN, FAN EXPANDED METAL 1
6 96906 MS90725-40 SCREW, HEX HEAD 6
7 65072 FAN 1

END OF FIGURE

(5)

QTY

(4)

DESCRIPTION AND USABLE ON CODE

(2)

FSCM

(3)
PART

NUMBER

(1)
ITEM
NO.

75-1


